AB-tH&E

18 SEtRGHER

B #RERFE @ BEHEREAESE 160 -
= 155
€ = 1.37 150 +
13 48 1.78 145
2 = = 1.60 g | 140 -
SER B 1.59 135 |
4 He X 1.58 '
5 1k = 1.55 130 ¢
6 13 FH 1.54 o i
7 K n 1.53 B
120
9 85 iR 151 14 15 16 17 18 19  20°F
10 % .
1 § Tﬁ 1;51(7) ® . BBR = 2E |
12 & g7 1.45 __
12 % =B 1.45 [ #EtTr—% |
12 & =] 1.45 " = EER z =
15l 1.44 x4 1.57 1.32
15 & 1.44 ER15 1. 54 1 29
7% A 1.43 FERL16 151 129
175 ®W 143 FRT 1. 49 126
17 f& 1.43 F k18 1.49 1.32
17 B 1.43 FERE19 1.49 1.34
21 7 A 1.42 F 5£.20 1.52 1.37
22 & I 1.41
22 1 W 1.41 5 H BB 2
24 # 5 1.40
24 & I% 140 | pg
26 B F 1.39 IR E R () 29.3 30.2
271 = L 1.38 (%) (4441)
27 = S 138 |.
29 & 177 1.37 =
29 ¥ Pz 1.37
29 f8 [ 137 | .
32 5 p3ll 1.36 R
33 1L 34 1.35 IR E RS (&) 274 28.5
33 I B 1.35 . () (4741)
3B & & 1.34 =
36 Fk A 1.32
37 B Ee 1.30
37 & =] 1.30
39 = 177 1.29 BRI A EBET A QB REHE
39 F =3 1.29 SAEEE A T H204
41 15 £ 1.28 | -RERYy 855
MK R 1.28 CEH A B OEE 3 H £ BER)
43 M ZE= )| 1.27 101 BRAEEBHUEFAODISENSIEETOAE
44 = £ 1.22 ) BHEBREARLL, ERBEOREERVHERDOKELTRT S
44 == B 1.22 = ZCHY . 15BN DIRETOETFOERFHELEEEH LD T, I
46 1t & & 1.20 ADEFAMRIZEFDERDEMA L ERT—EDORIESELIEED
47 ® = 1.09 FHHICHAYT S,




